ZA| BHLol=
1t 3t Z2
-
=

— F O
[ir



2|2 A7t H5F B20] ol=HAELIL.

ofX|2F Z°EotX| OA| L2~




=(?) HiXi2|= S0t=L|Ct.




1210, 2= =0+ H|S0] =Ll

T4 NiXic| = S0t X| 25U L.



2&(IR)ok= 7|1 0[0{0F BfLILH.

Why? &E[J0]| =7/| D= &L,



|

-, 8" " g e







We can

Md

with M

Ke It

DX. tec

nnology.

EX} RIct 7|42
X S| 2128 Al AIBEHLICH

nappen

H

6




34

NHNQIEHIAIHE

Sl e His 2.88%, 2018 A 1He - 1562







GO

llllllllllllll

CIRZ TS|

" Google Play



freeca'

IZ2|ZITVE TVA3 o2
e} S| 7| M8

.
soa e
.A".' “i .l

1174 f
4 " \ony) waol QasigsUc.
j »
4 AURU ME8eInR?
é & SAAR A M- R—
"t-—> Af| HIY7|2 AT HAQ | &

[ e O |

(®)

14

Ot 2|7}TV

8.45%,




